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2107, (REVISED COURSE) ND-9464
(3 Hours) [ Total Marks : 100

" _zstion No. 1 is compulsory.

-~ :npt any four out of the remaining six questions.
_:sume suitable data if required.

=,gures to the right indicate full marks.

_- -t the following questions .— 20
o the Find V.., using Nodal Analysis. con

1 Following is tree of graph. Draw the complete oriented graph and draw one appropriate

clectrical network for it.
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~1 Find Thevenin's equivalent circuit of following network across A — B.
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f(t) dt
- the following network, the initial current is zero. Find the source current after closing
e oswitch.
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f 2. 3.
2. (a) Find |, ¢ di and ie‘?“ at t = O+ in the following network when the switch is chan

dt' t?
from position 1 to position 2 att = 0.
Steady state condition is reached before switching.
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{(b) Calculate the current through 2 Q resistance using Source Transtormation.
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3. (a} Findthe transmission parameters for the network shown —

] - 2
e S —
(o) Synthesise the following function in Foster—I and Foster—Il form.
(s +as-9
Z(s)= -
(S’ +25)

4. {a) Determine the R for maximum power transferred. Hence determine P max-
{a‘_n__ é...fl_.
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For the network shown below, find — \ 10
- .8 cha (i) Incidence matrix
(i) Cut-set matrix
(i)  Tie-set matrix.
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Switch S is open for a long time and closes at t = 0, find — 10
(i) Initial value of current | '
i) i(t) for t > 0.
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Check following function for positive real function — 8
25° +25%+35+2

F(s)= -
s +1
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(b) Determine Y-parameters for n/w shown velow —
2H
..’..
/ TéF ;)__
‘I/C,J_ —
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s' 465 +4
(c) Realise Y(s)—- +3 5 12 in Cauer-I1 form.
25" +4s .

7. Attempt the following questions ‘—
(a) Explain the principle of duality. Explain it's procedure to find the dual network with
suitable example.
(b) Explain in detail the properties of positive real functions.
(c) Prove the condition for Reciprocity and Symmaetry.




